1.  Tetralogy of Fallot consist of:

A: Ventricular septal defect, Aortic stenosis, Aorta overriding, Pulmonary stenosis

B: Ventricular septal defect, Aortic stenosis, Aorta overriding, Atrial septal defect

C: Ventricular septal defect, Aorta overriding, Pulmonary stenosis, Right ventricle hypertrophy
D: Atrial septal defect, Aorta overriding, Pulmonary stenosis, Right ventricle hypertrophy
2. Left to right shunts is:

A: Pulmonary stenosis
B: Tetralogy of Fallot

C: Atrioventricular septal defect

D: Total anomalous pulmononary veins drainage
3. Incidence of congenital heart defects is:

A: 0,2%

B: 0,8%

C: 8,0%

D: 2,0%

4.    Which congenital heart defect belongs to cyanotic defects:
A: Persistent ductus arteriosus

B: Atrial septal defect
C: Hypertofic cardiomyopathy
D: Pulmonary atresia

5.  Which congenital heart defects is always critical:

A: D-Transposition of great arteries
B: Atrial septal defect
C: Foramen ovale apertum
D: Tetralogy of Fallot
6. What are clinical signs of low cardiac output:

A: Central cyanosis, Dyspnoe

B: Pale periphery, Peripheral cyanosis

C: Hepatomegaly, Metabolic alcalosis
D: Metabolic acidosis, Systemic arterial hypertension
7. Which congenital heart defect can be treated medicamentouslly in premature newborns: 

A: Persistent ductus arteriosus by acetylsalicylic acid (Ibuprofen) p.o.
B: Persistent ductus arteriosus by prostaglandins p.o. 
C: Atrial septal defect by acetylsalicylic acid p.o.
D: Atrial septal defect by prostaglandins p.o.
8:   What can be closed by using catheterizational interventional procedure:

A: Persistent ductus arteriosus
B: Tetralogy of Fallot
C: Atrioventricular septal defect
D: D-Transposition of great arteries

9. The causes of secondary arterial hypertension are:
A: Feochromocytoma, Renal artery stenosis

B. Renal artery stenosis, Dilation of ascending aorta

C: Coarctation of aorta, Dilation of ascending aorta

D: Cushing syndroma, Kawasaki disease

10. What is correct:

A: Atrial septal defect - continual murmur 

B: Persistent ductus arteriosus – continual murmur

C: Mitral insufficiency – diastolic murmur

D: Ventricular septal defect – continual murmur

11. Systolic murmur is typical for:

A: Aortic insufficiency

B: Aortic stenosis
C: Tricuspid stenosis

D: Mitral stenosis
12. Right ventricle hypertrophy on ECG is typical for:

A: Aortic stenosis

B: Tetralogy of Fallot

C: Aortic insufficiency

D: Persistent ductus arteriosus

13. Increased pulmonary blood perfusion on chest x-ray is typical for:

A: Tetralogy of Fallot

B: Pulmonary stenosis

C: Aortic stenosis

D: Ventricular septal defect

14. Which drugs do we use for chronical heart failure treatment:

A: Digoxin p.o., Spironolactone p.o.
B: Digoxin p.o., Amiodarone p.o.
C: Amiodarone p.o., Noradrenaline p.o.
D: Adrenaline p.o., Dopamine p.o.
15. Which drug do we use in critical heart defects to keep the ductus arteriosus open:

A: Acetylsalicylic acid p.o. (Ibuprofen)
B: Dobutamine i.v.
C: Prostaglandins i.v.
D: Oxygen inhalation
Test B
1. What is true in fetoplacentar circulation:

A:  Fetus has 1 vena umbilicalis

B:  Fetus has 2 vena umbilicalis

C:  Fetus has 1 arteria umbilicalis

D:  Fetus has no Foramen ovale  

2 . What is the typical change after the baby is born?
A:  Pulmonary vascular resistance increase
B:  Foramen ovale is opening

C:  Pulmonary vascular resistance decrease
D:  Ductus arteriosus is closing (constricting) during first minutes in all newborns

3.  Pulmonary oedema is typical for:
A:  Tetralogy of Fallot 
B:  Total anomalous pulmonary veins drainage without obstruction
C:  Atrial septal defect
D:  Total anomalous pulmonary veins drainage with obstruction

4.  Which drugs do we use for anoxic spell treatment in patients with Tetralogy of Fallot: 
A:  Digoxin p.o.

B:  Oxygen inhalation only

C: Dobutamin i.v.

D: Betablockers i.v.

5.  Which drugs do we use in acute myocarditis treatment:

A: Imunoglobulines i.v.
B: Digoxin p.o.
C: Imunoglobulines p.o.

D: Nitroglycerin p.o.

6. What do we use in pulmonary arterial hypertension treatment:

      A:   Metoprolol i.v.

      B:   Digoxin p.o.

      C:   Sildenafil p.o.

      D:   Sotalol i.v.  

      7:   What is typical for Eisenmenger syndroma:

      A:  Clubbing, Systemic arterial hypertension

      B:  Right – to – left shunting, Polyglobulia

      C:  Left – to – right shunting, Polyglobulia
      D:  Polyglobulia, Systemic arterial hypertension

8.  What is truth:
A:  Venous oxygen saturation in healthy patient is 75-80%

B:  Venous oxygen saturation in patient with low cardiac output is > 80%

C:  Venous oxygen saturation in healthy patient is 55-60%

D:  Venous oxygen saturation in patient with low cardiac output is > arterial oxygen saturation

9.   What is the first invasive step in treatment of following diagnoses:

A:   Balloon angioplasty in critical Coarctation of aorta

B:   Atrial septal defect closure in Tetralogy of Fallot
C:   Balloon valvuloplasty in Aortic insufficiency

D:   Resection  and end-to-end anastomosis in critical Coarctation of aorta

10.   Hypertrophic cardiomyopathy affects mainly:

A:    Systolic function of the left ventricle

B:     Systolic function of the right ventricle

C:     Diastolic function

D:     Systolic and diastolic function
11.    Ductus arteriosus is the communication between: 

A:     Aorta ascendens and arteria pulmonalis 

B:     Aorta descendens and arteria pulmonalis 

C:     Vena umbilicalis and inferior vena cava

D:     Vena umbilicalis and vena portae

12:    Trizomy 21 syndrome is most often associated with:
A:    Complete atrioventricular septal defect

B:    Transposition of great arteries

C:    Patent ductus arteriosus

D:    Pulmonary stenosis

13:    What are the typical clinical signs of  „left to right  shunts“ heart defects?
A:    Central cyanosis, Polycythemia, Squating

B:    Feeding difficulties, Failure to thrive, Tachydyspnoae

C:    Polycythemia, Exercive dyspnoea, Mild cyanosis

D:    Weakly palpable pulses,  Peripheral cyanosis, Bradycardia

14:   What closes the ductus arteriosus?
A:    High pO2, PGE i.v.
B:    Low pO2, PGE i.v.
C:    High pO2, Ibuprofen

D:    Low pO2, Ibuprofen

15:   Which congenital heart defects can not be diagnosed prenatally?
A:    Transposition of great arteries

B:    Ventricular septal defect

C:    Persistent ductus arteriosus

D:    Tetralogy of Fallot
16:    What can be the complications of PGE therapy: 

A:     Pallor
B:     Exantema
C:     Apnoe 

D:     Smile

17:   Which congenital heart defect is usually uncritical?
A:    Hypoplastic left heart syndrome

B:    Transposition of the great arteries

C.    Tetralogy of Fallot

D:    Interrupted aortic arch

18:  What are the typical clinical signs of  „ right to left “ heart defects ?
A:   Failure to thrive, Dyspnoea

B:   Peripheral cyanosis, Anemia, Bradycardia
C:   Signs of low cardiac output, Renal failure, No cyanosis
D:   Central cyanosis, Polycythemia, Thromboembolism

19:   Normal systemic arterial blood pressure in newborn / 3,5 kg/ is:
A:   120/80 mmHg
B:   140/90 mmHg
C:   95/ 75 mmHg
D:   75/45  mmHg
20: Accidental (innocent) murmur:

A:   Is always diastolic

B:   Sometimes has the thrill

C.   Is caused by the valvar disease or myocarditis

D:   Changes the intensity with moving (position change) of patient
21:   Which congenital heart defects are dependent on ductus arteriosus?: 

A:    Critical aortic stenosis, Transposition of the great arteries

B:    Partial anomalous pulmonary venous drainage, Hypoplastic left heart syndrome

C:    Critical coarctation of aorta,  Complete atrioventricular canal defect

D:    All types of defects in premature newborns
22:   How many joules would you use to stop farmaco - resistant 
        supraventricular tachycardia in 6kg infant? 

A:   0,6 J

B:   6 J

C:   60 J

D:  120 J

23:  Which of the following defects present mainly with low cardiac output: 

A:   Ventricular septal defect, Atrial septal defect, Perzistent ductus arteriosus

B:   Transposition of the great arteries, Critical aortic stenosis, Critical coarctation of aorta

C:   Hypoplastic left heart syndrome, Critical aortic stenosis 

D:   Tetralogy of Fallot, Pulmonary atresia
24: What is true in one-chamber (Fontan) circulation:
A:    Blood pressure in left atrium is higher than blood pressure in pulmonary veins

B:    Blood pressure in vena cava superior is lower than blood pressure in atriums

C:    Blood pressure in venae cavae is lower < 5 mmHg
D:    SatO2 in arterial blood can be less than 98-100%
25. What is true in one-chamber (Fontan) circulation:

A:     The best prognosis is in patients with hypoplastic left heart syndroma

B:     Tricuspid atresia can not be treated as Fontan circulation

C:     SatO2 in arterial blood increases after catheterizational closure of fenestration

D:     Fontan procedure is performed between 2.-3. month of age

